< Beta

1569/A

FBeta

INSTRUCTIONS FOR USE



https://www.carid.com/beta/

TECHNICAL SHEET SOCKETS / WASHERS

EV

SOCKETS' WASHERBEARING | WASHERBEARING | WASHERBEARING | WASHER BEARING
DIMENSIONS 4 3 2 1
@82/72 v v
@80/70 v v
@78/68 v v
076166 v v
074164 v v
072162 v v
@70/60 v v
768/58 v v
@ 66/56 v v
064154 v v
@62/52 v v
@60/50 v v
@58/48 v v
@ 56/46 v v
54/ 44 v v
052/42 v v
@50/40 v v
048138 v v
@ 46/36 v v
Q44134 v v
Components:
Ref DESCRIPTION
A COMPLETE KIT OF SOCKETS
1 WASHER BEARING 74/34
2 WASHER BEARING 76/36
3 WASHER BEARING 78/38
4 WASHER BEARING 80/40
M16X1.5 THREADED ROAD
F WITH NUT AND BEARING
G M14X1.5 THREADED ROAD
WITH NUT AND BEARING
M12X1.5 THREADED ROAD
H WITH NUT AND BEARING
M10X1.5 THREADED ROAD
! WITH NUT AND BEARING




DISASSEMBLY - REASSEMBLY PROCEDURE (END

»  Take away the arm where the Silent
Block is housed, levering to release
it.

N.B.: Mark on the arm the position of

the Silent Block hole, to maintain the

right position during reassembly.

* Insertinto the internal hole of the
Silent Block the screw suitable for
the diameter of the hole, positioning
the bushes, washers and the nuts
with suitable bearing from the side of
removal (fig. 1-A).

*  Apply bush and washer suitable to
the diameter of the Silent Block beat
(fig.1-B).

»  Tighten the nut with bearing suitable
to the used threaded bar till reaching
the beat on the washer; screw with
two wrenches to start the removal
(fig.2).

N.B.: If the Silent Block is too long and

with only one bush you cannot remove

it completely, it is necessary to use a

second bush as extension, choosing it

in the kit so that it inserts perfectly to
the previously used bush (fig.3).

»  After the removal, take the new Silent
Block and mark the two ends basing
on the clean part of the old Silent
Block, to have the right assembly
distance (fig.4 - 5).

* Reassemble following the same pro-
cedure for the disassembly, screwing
till reaching the previous mark (fig.6).

Learn more about automotive tools we have.


https://www.carid.com/automotive-tools.html



